[ Fake rate vs vertpos | [ Duplicates Rate vs vertpos | [ Pileup rate vs vertpos |

T — = 0.02p T T . ~0.05
: - et : : : 4

D.045

.018F
<
50.04

.016F
014F : 2.035
: . o
, , , o)) TTOL ARAS SRS L ¥ ; +* 0.03
. : : : VRO AT R\ et 0.025
: : : o : : :
0.4f----weeen- b PP A 0.008F---- <<+ Feoeene M 0.02

I : : : 0.006f -+ PR e 0.015

fakerate vsr

o
[ee]
I
duplicajessatevs

0.2F e PR PR 0.004f----=-=-+- Beoeeeeeend e e + 0.01F-- -+ vbemee e feeeees #4'
- : : : 0.002f---------- CRLRRRIREREE b SRREEEE - 0.00B -+ xseeshereeeeeeeedei i -

1.0

Ratio
Ratio
;:

1t

+ ' +

2

=
=
—

=
u
—N
—
—
=
3
—+ E
— E
T - E
—
==Y
JS—
T

0.95 L H
1072 107

1 10 0? 1 10 0
track ref. point r (cn%) track ref. point r (cml)

UéIVI I T URIGINAL

DOM_TT MODIFIED_propToPlane_PRVersionFINAL2
Fakeratevsy __,_ _ DQM_TT__MODIFIED propToPlane_PRVersionFINAL4

Erer ~ 0.05

N E
[ N 7] E
> 3 : e : S
@ r : : : : : @'045: : : : : :
© r : : : : : © F ... U e A A
§ 0Bt s R S R A S
O .03+ ook
L : : : : : e E : : : : :
s e e e e R S S
- : : : : : o E . . . . .
T 0.025f -+ cierseesbies e
e S s 002
- : : : : : 0.015
7 ENRRS RSO SO SR HOR S 0.0 .
S 0.005 —
JRR: SOV SUURE SOV SUUSE SOUSE SN [ S0
= [ : : : : : = [ l» d i
i & LBILLLE i

| i

30 =20 -10 0 10 20 30 0¥ 20 10 0 10 20 30 0¥ =20 10 0 10 20 30
track ref. point z (cm) track ref. point z (cm) track ref. point z (cm)

Fake rate vs. simPVz | [ Duplicates Rate vs sim PV z | [ Pileup rate vs. sim PV z |

N T T N0.OS——— ~0.05
> | R L s O > E : : : : : : : >
a [P e BQ.04Bf -+ e et e 20.045
(77T ENNER SUURR SOPRN S SO0 SURRE HONS S G S0 S SLEE U S 50.04
e T D085+ bee b $.035
o [ Q Eo: : : : : : : Q
S 06 : : : : : : : ©0.03F--r---+- proces pee e R ©0.03
9 L : : : : : : n E : : : : : : o
- A A T A 9,025 <ok eeeee e B.025
Foo : : : : : : o Eo: : : : : : : =
0.4F---5----- [ DR R R S0.02F---r--mpeeeee- e SRRERE: e 0.02

S YT S S S 0.015

Lo : : : : : : Eo Wy e g Ses : : : : : : :
0.2 - sFrrersbes st e 0-01:—""?"+'"5'*'";’ """ P TR L0 O e S SR SR S
A T T = e o e e o

Ratio

+
=TT

| S N N A T AL L il
T ] daaaicszsiet i S i a1

0-15-10 =5 0 5 10 15 20 515 =10 -5 0 B 10 15 20 085 =15 10 =5 0 5 10 15 20
Sim. PV z (cm) Sim. PV z (cm) Sim. PV z (cm)

0.95;



	Contents
	Page 1


